[image: image1.png]eise |
SU-MTE2 -0
W
E oo

N =wo(ecu (es (é\rﬁ»jmstﬁé(-)

\\W‘ﬂ"’l\*bn,a*av {\A-t+
33*'0*&‘ ' lSMQ »

T =7 Swe-al ey P Je, L+ 'vace,eap wNl, S=[ae fr W
where | _As
il e &eﬁw@? _ NI =~ w),
V\l.(N—V\B(
s e bﬁa o mose wx;»(tcu(c«) C\)»« M, la«/’i"
‘(’&,e.se. W ma(ecu(e-g’ Can be in one of S 5%3
/(474(«0.(:.
5’?“(3 I “((”'M\
o b
;/:;Us; | S= s W = l‘Ys n w3+ l\” = IV\V‘ - ll« (’U“’l)(]
gﬂfé”( &W% S‘(‘«(ébﬁ A-wac,
e
) ) |
/3 , S ka3 + NN N = Alnnea = (N-p) L (o) 4o
e . - B -
loose T by [V\ 3 4+ NN -0 lan - CN""\[P\(’U”")Y
L) e 95

- 952m _ { 3S
B M Fu T € Sn

zs
=k L M3 40— twn mn (L) 4 () 4 (N
Y. n =n( )‘* (v-n) M\(I\M)‘X




